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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
G T
= 1 87, 419, 667
SRBRUAGI T
= 1 31, 822, 324
E¥LT
= 1 3, 463, 218
LTFIAL L
= 1 17, 653, 450
ST HTHL Hifg 1500mm #HiE GREHE) 32
m
(P71L)
VN 4 4, 395, 530 17, 582, 120
FEA (V-27) +Hp
= 1 49, 634
PRauRiiie )= (EF)HEEM & D Zb L
m3 6 1,901 11, 406
ALy av9Y)=hik (IE57)
m3 6 1,715 10, 290
W77 T
= 1 10, 705, 656
¥Lavy)-h 18-8-40 (Fi4F) #JZ 30cm
m2 57 9, 462 539, 334
Tl — AT
= 1 444, 768
Tl i L BB
= 1 519, 057
AR SD345 D16~25
t 6.57 158, 388 1, 040, 609
s LRF Y LT
= 1 232, 200
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
EVZUR 24-12-40 (Fi4F) —Mess4E
m3 214 29, 524 6, 318, 136
T/h=TV-b ARk B3
H 1 1,496, 251 1, 496, 251
KAG SR Th=7V=h
= 1 115, 301
HEE L
= 1 28, 994
RS B LT
= 1 22, 488
EhAERREIT TAT 7V MHZERR 15emBl
m 18 559. 9 10, 078
LS TAT 7 MEREERR SHEERRE 10 ¢ m
m2 23 539. 6 12,410
TEHRALER T
= 1 6, 506
PRauRiiig T AT 7V Nk
m3 2 1,282 2,564
ALy TAT 7 bk
m3 2 1,971 3,942
G an
= 1 55, 568, 349
- F - B T
= 1 52, 682, 523
SRR VAL SRR S 24, 5m #%
WATIAR 24m
(P71L)
% 106 472, 834 50, 120, 404
D) ek L
(P71L)
t 26.3 97, 419 2,562, 119
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
Fgkay )=} T
= 1 369, 018
Fehay ) - 18-8-40 (F47) BUE30cm
m2 39 9, 462 369, 018
ARmE T
= 1 2,516, 808
AW B
= 1 2,516, 808
B TR
= 1 87, 419, 667
MR E
= 1 16, 098, 636
B3 TS
= 1 5, 040, 359
TR
= 1 4,112, 032
TR B oy MR ST A
= 1 3, 733, 635
IERA TE Y
= 1 378, 397
et By
= 1 54, 815
B R FEART e
= 1 54, 815
BIGREsET (K30
= 1 873,512
HIBGERE (FE L)
= 1 11, 058, 277
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
Wi
= 1 103, 518, 303
B
= 1 33, 839, 522
T AT
= 1 137, 357, 825
— R
= 1 22,382, 175
TS
= 1 159, 740, 000
THEBLFH Y %H
= 1 15, 974, 000
TH#&G
= 1 175, 714, 000
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